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1.2 L of a soiution containing .U X 1U ° grams of hyarobromic acia.

2.3 L of a solution containing 4.5 grams of nitric acid.

792 mL of a solution containing 0.344 grams of hydrochloric acid..

100 mL of a solution containing 1.00 grams of nitric acid.

8.7 L of a solution containing 1.1 grams of nitric acid.

1.5 L of a solution containing 5.6 grams of hydroiodic.

10.7 L of a solution containing 0.01 grams of hydrochloric acid.

8,000 mL of a solution containing 6.7 grams of nitric acid and 4.5 grams of
hydrochloric acid.

150,000 L of a solution containing 45 grams of nitric acid and 998 grams
of hydrobromic acid.

50 L of a solution containing 0.09 grams of HCI, 0.9 grams of HBr, 8.0
grams of HI, and 90.0 grams of HNOs.




